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) & It 27| M <
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=
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i

Rl/Ze B

3r
B0
z
&0

Klo

yi <0
_0|m_. <0 jor
r 0 i
= ol x|o
* K+
2
I
X
%0
B0
*
&
=
2
0
zu .Hmm
< ol
ior K
[ g Mo
E
* or
L 4
M Erm-—— %

x| 22| 3%

o

=R

2k

X «

F1
0

K

=<

Kio

mjn

ofl

o
xr

KI

=
=

A
il

H Ea& A

S

Of XtX|st=

|

100.0%2 &0, 2t X}

st
BH=

A4l

o

or

X

pds
2]

)

2

)

r
[ 7}

ix A

EI (Matr

k

od

2

K-

[# 12]

W om ™
RS S S
W | |4 " | ®0| R0

oF | K | Ko | Ko | Ko

_|_._ o — [qV] M~ (o))

a1 3% |g|8|s

K I

LH < | m o N

KHr |R0| < r~ o o N

= ~ ~ o ~ ©

|~

< | o

S

ol <
w3
ol UL
SR
o R
gl ™ o
¥ 5 F ® T

JI MO u_.nAO

=0 Mﬁ

Br 1ol

o

+

_21_



Ol OlL=>= <y (=)
3-1) X8 = [t S]]
=
Zh 255 Anp (™H)
O tftmg AHR L MI@I £E0| 798M0= I &3,
CHSoZ Hui T2 AM(7598) > duik73678) =¢
[1% 8] Xt UFE [f5tn S
(Base=T*||, n=1,309)
©9: 8
ﬁ:ll:’l,lul A34 v28 v0.5
ﬁGE:::HI A24 A58 v0.5 A18
e 7.6 5
Mzaat mielaminiy H|map T2
]
HH|CHY| Gap (M5 - TH)
TEChE| Gap (20241 1%}7] - 20239 1817))
X HEL Atz b
1) At BERZ A L MR g5 HA Me He
2) EE UEE  BEE L MEF g5 N M HZ
[E 13] XA¥E A=K [CfStu]] - SHA §4E
2= LIPS A HEE H3uat kel grmiin [ Hunt =274
= = = =
A (1,309) 76.4 79.8 73.6 75.9
. = (461) 76.9 80.9 73.5 76.2
°= g (848) 76.2 79.2 73.6 75.7
18t (466) 75.9 79.6 72.6 75.5
pE] (330) 773 81.2 73.8 76.8
st 35t (271) 75.8 78.8 73.1 75.6
43t (231) 76.7 79.6 75.4 75.1
55t 7)* 85.5 84.3 88.6 83.7
ZatChEt 71 747 75.1 72.8 76.2
=22 ALY} (86) 75.3 79.5 723 74.0
O|=-C|XtQlCyst (236) 723 74.2 69.6 73.1
EOHL|HIO[MAQICSE (1471) 73.2 77.8 69.2 72.5
chafcyst ARCHSE (401) 80.0 85.6 76.0 784
Atz|apstyst (94) 77.2 78.1 75.4 78.0
Aletohst (25)* 67.7 70.2 65.6 67.4
Sotchst (160) 777 79.1 76.6 774
B3 - apstoy st 67) 79.0 834 76.8 76.8
SEotE (28)* 75.3 77.0 75.4 73.6
* Base”} 30ECt Mooz Mo F2|
w A ERfKt2] BR2 20| et 0.12] Xto|7p LA & U

ZF) st 7|Ep #7] H <l
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10 A a | X AL RAEAERE I E R 7
=B or |z | OF %l | &1 q | 30 w | X @m0 | T B
X gl w |3l o & F | B0 | X C Y it
5 el L I o g | K o) W | %8 ;
© 5 & r == | 3 = — | X<« |H W | or | Af Al
= e £ o 2 . | O |
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(Base=TH|, n=1,309)

E21:F)
=
Akl A34 A36 A57 A52 A0S A20
Gap
b S
JE:HHI A24 A46 A38 A27 A35 A21 A34
Gap
76.4 79.8 80.0 82.1 81.6 76.9 78.4
HE mate) HE nat

TH|CHH| Gap (M - TH)
H Y| Gap (20244 1817] - 20234 18}7])

1) A UFRE R U AR gs T e B
2) B UEZ B2 W MR 25 TA s B

[ 15] XIE HFr [Stu] - 3wl - SEX E4E
b,y i g i g ik
ng | 3B | HE | gup | gne | mape (BE
e nas | BEE | B A g e | YHET e
oo (=] o [
~ ~ ~ 7éll ~ ~ EI

A (1,309) 76.4 79.8 80.0 82.1 81.6 76.9 784
A g4 (461) 76.9 80.9 80.7 83.2 824 78.7 79.3
°= o4 (848) 76.2 79.2 79.6 81.5 81.2 75.9 779
18t (466) 75.9 79.6 80.3 81.3 822 76.6 777
25t (330) 773 81.2 80.8 844 82.7 78.0 80.3
=l 35t (271) 75.8 78.8 778 81.2 80.4 76.8 777
434 (231 76.7 79.6 80.6 81.5 80.6 77.2 78.0
55t (7)* 85.5 84.3 85.7 82.1 82.1 78.6 929
SatCy st 4)) 747 75.1 743 743 78.2 75.4 73.2
=t A} (86) 75.3 79.5 82.0 82.0 814 73.8 782
O] =-C| X}l CHs (236) 723 74.2 74.0 775 76.7 70.8 72.1
HEOHL|HO|MA LS (141) 732 77.8 77.8 79.6 78.9 764 764
ErapCyst Atgchst (4071) 80.0 85.6 85.3 88.5 873 827 83.9
= ArS| oty st (94) 77.2 78.1 78.7 79.0 80.1 75.0 777
Alstcyst (25)* 67.7 70.2 67.0 72.0 73.0 77.0 62.0
S otolst (160) 77.7 79.1 80.0 81.7 80.9 73.0 80.0
B3 - apstost (67) 79.0 83.4 84.0 84.0 84.3 83.2 813
SEEE (28)* 75.3 77.0 78.6 777 75.9 75.0 777

* BaseZt 302Ct MoBZ sfMo| 39|
A EMALE] 220 w2k 019 Xjo|7t HE £ UAS
F) gtd 7|ef 77| Q|
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o= 74 S o = =13 )
Ct. 2 5e A iguns - M39% 246 Hgk)
O M9y 2d Mot 79782 R LiEtH
(78 SH HE : 41% E& S8H : 183%, 38 8 : 77.6%)
O SEA EMYEE HM(8047%), 5aA(82.178), AHHCHEH85.9%)0M =A| LIEFE
O HtH, Mathist2 700822 7 &2 "Ity
[18 1] ALY HEE SRS - T Y T4 HBE]
(Base=TH||, n=1,309)
4 H|R (23 Vs. "24) @9l 7 20243 3 HIE (E91 1 %)
Bot2% Top2%
76.1 79.7 41 \ 77.6
46.3
31.3
18.3
i >0 I .
20234 20244 0 £ 23 HE 3 o<
LE: 23

W2 | exm | w2 | 39 | W7 | oz | Mid | Top2 | 190F

TE M| "8 | T° °° | 34 =
% % % % % % % % H
T (1,309) | 11 3.0 183 | 313 | 463 4.1 183 | 776 | 797
A =2 (461) 2.0 2.8 176 | 269 | 508 48 176 | 777 | 804
ol (848) 0.7 3.1 186 | 337 | 439 38 186 | 776 | 792
15 (466) 0.9 1.7 176 | 363 | 436 26 176 | 798 | 80.0
24ig] (330) 03 2.4 185 | 309 | 479 27 185 | 788 | 809
&gl 35t (71 22 4.1 19.6 266 | 476 6.3 19.6 742 783
43t (231) 1.7 43 177 | 277 | 485 6.1 177 | 762 | 792
55t 7)* 0.0 0.0 143 | 429 | 429 0.0 143 | 857 | 821

Satoy st 71 2.8 42 25.4 239 437 7.0 25.4 67.6 75.4

el s B o) (86) 1.2 1.2 23.3 30.2 442 2.3 233 744 78.8

O|=-C| Xl Cyst (236) 0.8 7.2 195 40.3 322 8.1 19.5 72.5 73.9

SO HOIMA TS| (141) 0.0 14 29.1 34.0 355 14 29.1 69.5 75.9

crfeyet AL CH 5 (401) 0.2 1.7 107 | 287 | 586 20 107 | 873 | 859
Ar2|ntstryst (94) 2.1 32 20.2 35.1 394 53 20.2 745 76.6

Alstrifst (25)* 8.0 40 280 | 200 | 400 120 | 280 | 600 | 700

Sotryst (160) 2.5 3.1 163 | 263 51.9 5.6 163 | 781 80.5

B3 - tetch st (67) 0.0 0.0 164 | 343 | 493 0.0 164 | 836 | 832

Salste (28)* 36 0.0 286 | 214 | 464 36 286 | 679 | 768

* BaseZt 302Ct MoBZ sfMo| 39|
A EMALE] 220 w2k 019 Xjo|7t HE £ UAS
F) gtd 7|Ef 27| H| Q|
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Ch. EE Zat @Sng - 2Yaah

(Base=T#|, n=1,309)

[Eea )
dA|CHE
HHCHH| v238 v238 v33 v3.0 v22 v3.0
Gap
Hchd
ks A24 v0.5 v04 v0.9 v0.6 A02 v0.6
73.6 73.1 73.4 74.2 73.4
Crofst W wute| jmiCTminiE] jmeTmin ] jmECTmin]
i gmin] [Z=QF SO sl RETHAUUE A makd
E5 B2 43t EF
HEgs

HH|CHH| Gap (M#£ - FH)
HUEChH| Gap (20243 187] - 20234 18}7])

1) AHE UFE KR U MR s A s e/ 2) BE2 UER  2E U MR = TN Me E0

[E 17) HYE UIE [HSDS - DYWI - SR Sy

= OF
o 2 | st | A% | aa nd | a0k
LS | =T [F=] Ne |2 8|9 Z=t <olifa k=dnl 94
= = E% e o
F] = = = B3] H F]
A (1,309) 76.4 736 73.6 73.1 73.4 74.2 73.4
A = (461) 76.9 735 73.7 72.8 73.7 74.0 73.4
c= oH (848) 76.2 73.6 73.6 733 73.2 74.4 73.4
18t (466) 75.9 726 73.3 715 72.5 73.0 72.7
25t (330) 773 73.8 734 74.1 73.5 74.4 73.4
st 35t (71) 75.8 73.1 725 728 72.8 74.2 73.4
43td (231) 76.7 754 75.6 75.1 75.4 76.1 74.7
55t N* 85.5 88.6 82.1 89.3 92.9 92.9 85.7
Satcyst (71 747 728 722 736 72.5 729 72.9
23t EH A (86) 75.3 723 71.2 71.8 73.0 733 72.4
O|=-C|RtQlCH=t (236) 72.3 69.6 69.5 69.0 68.9 71.0 69.8
HEOfL[H O] MA LK (1471) 73.2 69.2 70.6 67.9 68.8 69.1 69.7
chapcyst Ateicyst (401) 80.0 76.0 76.5 754 76.2 76.3 75.5
= = ArS|apstoy st (94) 77.2 75.4 73.1 75.8 76.1 76.6 75.5
Alstcyst (25)* 67.7 65.6 67.0 65.0 64.0 69.0 63.0
=2fCHsh (160) 77.7 76.6 77.0 75.8 76.3 772 76.7
=S == (67) 79.0 76.8 76.5 78.0 76.5 772 75.7
SEotE (28)* 75.3 75.4 74.1 75.9 74.1 76.8 75.9

* BaseZt 302Ct MoB2 sfMo| F9|
AW EMALZ] 220 w2l 019 Xfo|7t WE £ UAF
F) gtd 7|Ef 27| H Q|



Cf. BHEE Zit (fHDS - HZI Z2IY)

O HIIt TRIY B U TR BmIt T2 Jj/eN0| 778HOR JHE £,
[feoz MZ/mY o4 £2 ULl HI(760%) > H|Al Z2IYo| SHEoD At £

[AE 13] XIYE U= E [Cfstn | - Hnl T2 )
(Base=ZFH|, n=1,309)
Gy
E:II:'I)IHI v0.5 Al4 v04 v0.6 v19 vi12
HiACh|
Gap A24 A18 A38 A20 A18 A0S Al2
76.4 75.9 77.8 76.0 75.8 74.5 75.2
AYYRE  H@mm2aw  CUStHmY ME/mP0ls HIm T2l Hmmm2ad  mapHeluma
2  Z2IWiY/Rd c2YRnHS SpdEysices  FRo  ZRIYLd
e
HH CHE| Gap (M= - FH)
T Y| Gap (2024 13817] - 2023 1847])
X DHEL Atz b
1) A SRR A W MNE EE TN A B
2) B2 BHEE  BE Y N2 = HA Mz B
[E 18] A2lE WEE [HstaS - HlRat T3] - SEXt S4E
C}okst M3/ H| i af =
qe | Hmm | B | @gols| 2= | wag | G
o A olEe | ZE3Y | T2 £ o] | m= ey EE*'-:JL-E,.
TE bl | =S 2] | Y/ | HzEn | Sy (HER ol | TIg=
2 H3 |23 E2 =
= = = = = = =
TH| (1,309) 76.4 75.9 77.8 76.0 75.8 74.5 75.2
o =2 (461) 76.9 76.2 774 76.6 76.0 75.1 76.0
c= od (848) 76.2 75.7 78.0 75.7 75.6 74.2 74.8
184 (466) 75.9 75.5 77.8 75.9 75.4 73.9 74.4
284 (330) 773 76.8 78.6 76.9 76.7 75.9 76.0
shid 354 (271) 75.8 75.6 77.0 75.1 75.4 74.2 76.3
43t (231) 76.7 75.1 77.2 754 75.0 73.7 74.2
554 7* 85.5 83.7 86.1 82.3 82.3 85.6 82.2
Satcst 71) 747 76.2 77.7 764 76.0 74.8 76.1
22 HXCfst (86) 75.3 74.0 75.9 73.7 73.6 72.7 73.9
0| =-C|XtelCHst (236) 723 73.1 75.7 733 72.8 71.8 71.9
UEOHL|HO[MA LS (1471) 73.2 72.5 75.6 72.6 72.8 70.5 70.8
chapcyst AtELCHst (401) 80.0 784 79.7 785 79.0 76.8 78.1
= o Atz|apstCyst (94) 77.2 78.0 80.4 777 77.1 77.0 71.7
sty st (25)* 67.7 67.4 69.6 68.2 68.2 66.9 64.0
S (160) 77.7 774 78.1 776 77.1 76.6 776
EEESn == (67) 79.0 76.8 79.7 78.2 74.4 76.0 75.4
SEotE (28)* 75.3 73.6 75.8 72.6 74.3 71.3 74.2

* Base’/} 30ECH Moo= Mo F2f
e M2 BH2 8ol w2t 0.19] Xjo7 HME = UAS
F) std 7|t m7| H <
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2. U3 0| Hlm3t =21 HAFY
72.8%2 LIEH
O Z2% 0 ZE2 AtHCHEH81.8%)0| Mo 2 =
A% 14] ¢ o|F Hluwy =23 oA

(Base=TH||, n=1,309)

(9l - %)
89,728
[E 19] Y% 0% Hma =21 HojFH

2 A2i% e Hee

% %

A (1,309) 72.8 27.2

b g4 (461) 64.4 356
= of s (848) 774 226
1&g (466) 58.8 412

25t (330) 80.9 19.1

ShiH 3ot (71) 786 214
4354 (231) 81.8 18.2

55t * 85.7 143

SatChst ) 67.6 324

el falal ES o) (86) 55.8 44.2
O|&-C|Xp oIy st (236) 70.8 29.2
USOHL|HO[MA TS (141) 58.9 411

craph et AticHst (401) 81.8 182
Ar2| atetryst (94) 68.1 31.9

Alshrfsh (25)* 80.0 20.0

Sotcyst (160) 76.9 23.1

|3 - afskoy st (67) 77.6 224

=gsts (28)* 714 28.6

* BaseZ} 30ECH HooZ Mo {2
AW SMAE] 220 wal 019 Xfo|7t WE £ UAF
) std J|et BY] M| Q|
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[0 15] ALY HRE [SUNY / HAY / BERY)

(Base=TH||, n=1,309)

&7
ﬁgqul A15 v1.7 A01
ap
[E]
ﬁé':gul A6 A20 v2.0 v0.7
77.3 78.8 77.4
‘ AUSE seRgm=ay
X
HH CHE] Gap (M= - ®H)
A Y| Gap (2024'F 187] - 20234 1847])
X HFRE AE g
1) A MERE  AY L ME 25 JA s BE /2 R UED o BEE U AR 5 dY M B
[E 20] Kol BEE BPUME / H8Y / SN Y] - SYX S4E
Qs At A HEE Sl ME|ZIRME | FEJZIEXY | SSXY 2O
EI 7E'1I -~ ~
A (1,309) 773 78.8 75.6 774
A =] (461) 78.0 80.1 76.1 71.7
c= oy (848) 76.9 78.1 753 772
shiE (466) 772 78.4 75.7 77.4
25t (330) 77.8 80.3 75.9 77.4
st 33 (271) 76.8 776 75.2 77.7
43t (231) 77.2 79.3 75.5 76.8
55t (7)* 78.2 77.0 75.2 825
Satoi st 71) 77.0 80.0 747 76.4
e s s ety (86) 77.0 784 76.1 76.5
O =-C|xtQICHSt (236) 75.4 76.0 74.1 76.1
HEOHL|HOMAH RICHEE (141) 76.3 78.1 75.1 75.6
EhTtCyt i\r%*EH%*L (401) 785 80.3 76.3 78.9
Atz|apstCy st (94) 779 78.0 783 77.3
Aletoist (25)* 72.1 76.1 710 69.0
Sotcyst (160) 782 79.9 757 79.0
H| 3 - atstoy st (67) 787 82.4 75.8 78.0
SEss (28)* 75.6 73.7 76.2 77.0

* BaseZt 302Ct MeBZ sfMo| 39|
AW EMALZ] 220 mal 019 Xfo|7t WE £ UAF
F) & It B7| M <
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Br
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ol
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L
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=
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N
R
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od
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o B Y 5 .m
S K £
8o = wa
JlL ~ —~
= = S T U R N Y
o q_"._ o [ RN|6 || <
z0 3 o= Klo NN NN
o K
Kto o H
K: —_
w__ =~ ] KR4
JK &1 Kir ~
—_ .--MO G Mﬁ
H  RF — | MRl SO
A L N
ol U
-+ K LH
| -
o o _.ﬁ WS ol
HH o = oo | Y oy
B B =0 folo
TTITR = & e R
& & o R0 | oy |7
H = = oF M | ™
o X Kz 3 K SRR
o = Heo — w Mo
- K- iy (o] = _._._._ 0 _u__
=} g - N <
= - 4
kil _.—__ﬂ Q0 :.x i = _u__ _._._._
e oo ﬂ IH TR
oo _“I T T RR Y s
1 R XF =1 Kl ww
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ol
O Matrix 24 21} 2 HFHEEIF 2F 2 T 71 G2 ot2let 23

[A3 18] XAAE UFE [&SX|d Z2I%] (Matrix E4)

+

e (D

3H 7 3y Rl/Ze B

¢ SEAUERIUOAANS ES

& CORISESX| 2] =2 13 7)Ad

X « USZ=

[& 23] AHE UFRE [SEXE Z2™)] (Matrix 24)

3]

72 aeE SHE £w

3 %
CtYot &K@l T2 74 763 32,5 AR
S SEAX|Q mZ J2Ho| Sl Mo £ 9 o x| /7t
=} EI:|I|—|E I'L— |:|—|—||=l 1o = 775 335 T |/o
SIEAIR Z2T130| ST | R &2 783 34.0 o x|/
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= <) = =

Cf. =2 Zat (3¢ dElSE/EET)

O ot HE|8EH/TURYE W 8E2 o5 =8, JHO /HALE =50] 2t 790822
S =0, Ch3o2 JEHe| metdE =3(7878) > dHe T2 24 =8(785%) =4

(Base=TH||, n=1,309)

[ES )]
ﬁ:lll:llﬂl AlS5 Al4 Al17 A17 Al2
ap
F_l'-,ﬂl:ﬂl:ﬂ A16 A20 AQ06 A32 A16 A25
79.0 79.0 785
MEfol Aefol yEol
ST IHoEE =& T2 EA =&
HEgS
HH CHE| Gap (M= - FH)
T Gap (20244 18}7] - 2023 1847])
X HFRE s g
1) A BEE XY L MR g5 A M "R
2) B2 UFT B2 L ME g5 HH Mz He
[E 24] Xt SHEE (S AB|ME/HZ AT - STX SN
° SHAH Al AFCLO] . AFELO
A Hele | ook YU jiy |4pol A=
T A | BEE D TEE w8 i gg | YA =8
= = = = = =
HH| (1,309) 77.3 78.8 78.7 79.0 79.0 785
e 2 (461) 78.0 80.1 79.9 80.3 80.4 79.8
= of (848) 76.9 78.1 78.1 783 783 778
18t (466) 77.2 784 784 784 787 78.1
28 (330) 77.8 80.3 80.1 80.5 80.4 80.1
stid 35t (271) 76.8 776 778 776 777 773
43t (231) 77.2 79.3 78.9 80.0 79.7 78.7
55t (7)* 78.2 77.0 76.1 79.7 76.2 76.0
Zatchst ) 77.0 80.0 80.2 80.1 80.1 79.7
e s s ey (86) 77.0 78.4 78.2 783 79.2 777
O =-C| Xt el CHst (236) 75.4 76.0 76.5 76.0 75.9 75.6
HEOHL|HOIMAIUCHSE  (141) 76.3 78.1 78.0 786 78.2 77.6
cratcyst At CHSE (401) 78.5 80.3 80.0 80.5 80.7 80.0
= - Ab3|apstoy st (94) 77.9 78.0 77.6 7838 783 77.2
Aletoyst (25)* 72.1 76.1 773 764 75.5 75.3
Setoyst (160) 78.2 79.9 79.9 79.8 80.0 79.9
B3 - apsto st (67) 787 82.4 82.0 82.1 82.9 82.6
Salste (28)* 75.6 73.7 72.1 748 73.0 747

* BaseZt 302Ct MoB2 sfMo| 39|
AL EMALZ] 220 w2k 019 Xjo|7t HHE £ US
F) gtd 7|Ef 27| H Q|



O FEA/ZXZX|Y LY %A Rz Z2Mo| XE FH E20| 764T-CE JHE =1,
Nz T2 o 80[(76.17) > CHYst F/AY Tz =z J§Md
(7527 > F/AY M2 T2 W SH(7478)Y

O /8¢, T2 Z2I8o| T2 FH| =32 M|eisio] 789822 7t &5
[1 20] AH'E HEE [ AL/ ZX|Y]
(Base=FH|, n=1,309)
(G
ﬁglaqlpul w17 w21 vi2 v0.9 v26
&Ilﬂl:ul:ﬂ A16 v20 w22 v34 w17 v0.8
75.6 75.2 76.1 76.4 74.7
FEURIZAY  Clel /A, F/AY NZIZaad Al Nz FmYNE
& g Z2 0N &oi 80| T2 Z2aYd ss
A2 FH £
HNEEE
M| ChE| Gap (MI& - FH)
T HECHB| Gap (20244 1817 — 20234 18H7])
X HFRE s g
1) At BEZ AR L MR g5 HA Me He
2) EE UEE  BEE L MEF g5 N M HF
[E 25] Xt QHEE 3 EU/FEX| Y] - SEA SME
C}oFst x| /xFod
swey | a8 | Hay | MER | ame,
S JEII—EOxT'-‘%J THE = o2 a0 R
22 nas | BRE OSSR | mEhw | FEI¥ | GiE g | =g
7HAE-I |:|0:| (=] I E% OE
H H H H H H
A (1,309) 773 75.6 75.2 76.1 76.4 74.7
g =Hd (461) 78.0 76.1 75.6 76.8 77.0 75.2
= oy (848) 76.9 753 75.0 75.7 76.1 745
18t (466) 77.2 75.7 75.3 76.3 76.5 749
28t (330) 77.8 75.9 75.4 76.6 77.0 74.6
stid 33t (271) 76.8 75.2 749 75.4 76.1 744
43t (231 77.2 75.5 75.0 75.7 76.1 75.0
55t (7)* 78.2 75.2 75.1 75.3 75.4 749
Zatcyst 1 77.0 747 744 74.4 754 744
] el =i (86) 77.0 76.1 76.0 76.8 76.9 74.8
O|&-C|XpQIcHst (236) 75.4 74.1 73.7 74.6 75.1 72.9
HEOHLIHOIMAIUCHEE | (141) 76.3 75.1 74.6 75.8 75.9 74.0
ErapCyt AP LY 401) 78.5 76.3 75.6 76.9 77.2 75.3
= B Atz|ap=tCy st (94) 779 783 78.0 784 789 78.0
Alstost (25)* 72.1 71.0 71.2 70.9 71.3 70.8
St (160) 78.2 75.7 75.8 75.9 76.1 75.2
EESn == 67) 78.7 75.8 74.7 76.4 76.7 75.2
SEStE (28)* 75.6 76.2 75.1 76.5 78.4 74.9

* BaseZt 302Ct MeB2 oMo F9f
AL EMALE] 220l w2k 019 Xjo|7t W E £ UAS
F) gtd 7|ef 77| M2



O &K@ T2 LY stEX| Z2OMo| k557 9 =20| 783-CZE 7tE &1,
CI2oz Sh&X|@ T2 30| oHYl X2 = 2(77.5H) > CHYSH sh&X|@ 213 /)M

(Base=T#|, n=1,309)

(G )]
bo)
hzll:ﬂ“l A0.1 v10 A02 A10
ap
o
it A6 v0.7 vi3 v0.38 v0.1
77.4 76.3 77.5 78.3
EEEEERE! ClosststeRle SN mRagel  sigAgm2amel
= =203 M e Mg =2 A5E7| AL =S
HEgS
FH|CHE| Gap (M& - TH)
HECE| Gap (2024 18H7] - 2023 18H7))
X DHEL Atz b
1) At TBERZ A L MR S5 HA Me He
2) BE UEE  BEE L MEF g5 N Ms R
[E 26] AIYE UHFE EEX|H =2/ - SEHX 548
N N N st x|
2 &8 Cherst SHEX| 2 i
- e =233 sExig | oEasol | SEoEdl
T At == (R Z2IY N oH HE =8| e T
=
H H H H H
A (1,309) 77.3 774 76.3 77.5 78.3
e =Hd (461) 78.0 71.7 76.8 77.8 784
c= oy (848) 76.9 77.2 76.0 774 78.2
18t (466) 77.2 774 76.6 773 78.2
28t (330) 77.8 774 76.6 77.6 78.0
stid 35t (271) 76.8 77.7 76.1 78.0 79.0
43t (231) 77.2 76.8 754 77.3 77.8
55t 7* 78.2 82.5 82.3 789 86.2
ZafChEr 71 77.0 76.4 76.0 76.2 77.1
2= XCfst (86) 77.0 76.5 75.8 76.6 77.0
O)=-C|XtQICHSt (236) 75.4 76.1 74.8 764 77.0
IEOHLIHOIMAIRUCHEE | (141) 76.3 75.6 745 756 76.6
ErapCyt APRCHS 401) 78.5 78.9 777 79.1 79.9
= o Atz|apstyst (94) 77.9 773 76.2 773 786
Alstcyst (25)* 72.1 69.0 68.9 67.8 704
St (160) 78.2 79.0 779 79.4 79.6
ZEDSn =0 = 67) 78.7 78.0 77.1 78.0 79.0
Salste (28)* 75.6 77.0 75.6 78.0 774

* BaseZt 302Ct MoB2 sfMo] F9|
 ASE EMALE] 220l w2k 019 Xjo|7t HHE £ UAS
F) & It 27| M <

_35_



O 2024%tEd L 137]

ot 20248tAE 1807| &E 49
I.

o
O 20248tHE 137| MY Ze2 S8R 81%E 71 =5

[18 22] 20248t 138H7] A

H|Zd, 59.4

[E 27] 20248tA = 1517]

a
zt AWS 406%2 HA LIEHS

(Base=TH||, n=1,309)
(EH% - %)

2 A2i% ¢ Hee
%
A (1,309) 406 59.4
My B (461) 36.4 63.6
ol (848) 428 57.2
184 (466) 29.4 70.6
254 (330) 436 56.4
&gl 35k (71) 458 54.2
43t (231) 51.5 48.5
55t * 714 28.6
SatChst ) 35.2 64.8
el B ) (86) 384 61.6
O|&-C| X} Iy st (236) 35.2 64.8
YUEOHL|HOIMAIUCHSE  (141) 15.6 84.4
At CHSt (401) 52.4 476
Ar2| atetryst (94) 37.2 62.8
Alstrifst (25)* 64.0 36.0
Sotcyst (160) 344 65.6
H| 3 = afskoy st (67) 433 56.7
=gsts (28)* 82.1 17.9

* Base’Z} 30ECt HooZ Mo {2

SWMAtE] 2o wat 019 Xfto|7t 2dE 5+ AS

F) =td e 27| M

_36_



o deits F2 X=uset dHT HIE0| 701%2 7t =8

O
O A=n=et JF HE2 ZAZHELS0| 879%=2 7t =7 LEHH

70.1

32.0

21.3

xE @ Y gy 2
[# 28] &F CHaX - SEHA §4E

2 A NIL=SmE SHA M EHIE = =

% % %
A (531) 70.1 32.0 213
My = (168) 69.6 28.6 274
o (363) 70.2 336 185
15t (137) 723 153 22.6
pasi] (144) 743 28.5 243
el 35t (124) 64.5 419 218
43t (119) 68.9 437 15.1
5%t (5)* 80.0 400 400
SAtChs (25)* 68.0 40.0 24.0

el B (33) 87.9 242 9.1
O|&-C| X}l oy st (83) 614 337 27.7
HUEOHL(HOIMA TS (22)* 59.1 50.0 273
ErapCht if%*iﬂé.t (210) 833 243 16.7
A3 otstCh (35) 343 60.0 17.1
Alstrifst (16)* 875 375 18.8
Sotryst (55) 60.0 29.1 364
|3 = ntstoh st (29)* 75.9 17.2 17.2
Salste (23)* 26.1 60.9 26.1

* BaseZt 30ELCH oD =2 Mo |2l

= 24 WA B2 et 019] Kol BT + U
) e 7|g B9 Mg
S AR JlErE B7) He

ES
=
o

_37_



i ) B B o)
2 JfMALEIS FIZX|E ZHE0| 492%2 7HEF BT
(16.6%) > HE|LE 2E(149%) > SHX|= 2 (7.0%) %%

[12 24] M2|/Z2 AT 9 XY T2 A
(Base=4"5 ZEX}, n=531)

(T2l - %)

49.2
16.6 14.9
7.0
I . —
UEX = =0]-5d L YEX =
= & 2 =g

[E 29] deEl/ZlzdE A X =233 JHPAE -

o
g A HUZX| = BH | Sol-5M BE | MI|d4E B3 | dExe g
% % % %
| (531) 492 16.6 14.9 7.0
My ik (168) 494 13.1 10.1 113
oA (363) 49.0 18.2 17.1 5.0
15t (137) 409 18.2 13.9 6.6
pX=1C] (144) 479 16.7 18.8 6.9
il 35t (124) 53.2 185 12.9 73
434 (119) 55.5 134 13.4 6.7
55t (5)* 60.0 0.0 20.0 20.0
St st (25)* 480 16.0 0.0 12.0
Dol REIALCS (33) 36.4 21.2 15.2 12.1
0| =-C| X2l Tt (83) 53.0 26.5 96 2.4
= Of L o O] 4 A| 2 CH (22)* 455 22.7 45 18.2
crajoyet A st (210) 514 11.9 18.6 5.2
At2| ottt (35) 57.1 11.4 114 114
Alekost (16)* 125 250 313 12.5
Sotcst (55) 52.7 16.4 16.4 73
|3 = ofstoyst (29)* 483 20.7 13.8 0.0
=EStE (23)* 435 8.7 174 13.0

* BaseZl 30ELCH HoOZ 40| {2

o A SMAE 2ol wat 019 Xfo|7F Y 4

F) =td (e 77| M

K=}
=
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o ol SWMAE g2 ol Wl 019 X0t el = AZ

F) =td JlEr #7] ML

_39_

A 2% 01F F/AY X T2 Hof A
O 2%t 0|2 F/&Y X Z20H &0l ZE2 213%E A LtEHH
O Hof FE2 SRt 464%2 N £
[12 25] Y 0|F #/4¢ X T2 ol A
(Base=TH||, n=1,309)
(THl - %)
H|Z3d, 78.7
[E 30] % 0|F F/AH X|@l =2 HHo| AY - SEX EMH
As HAH
7 WEES ° '8
% %
HH| (1,309) 213 78.7
A i (461) 184 81.6
of-d (848) 22.9 77.1
184 (466) 13,5 86.5
28HA (330) 26.1 73.9
st 3shd @71) 25.5 74.5
43t (231) 23.8 76.2
55t (7)* 714 28.6
Satchst 71 22.5 77.5
el el s ey (86) 10.5 89.5
O|=-C|XtolCyst (236) 19.5 80.5
USOHL|HO[MA TS (141) 9.9 90.1
EH[CH&SH
Er oy ArLhEr (401) 247 753
Atz| otstch st (94) 33.0 67.0
Alstryst (25)* 12.0 88.0
Setost (160) 15.0 85.0
|3 - apstoy st (67) 35.8 64.2
SESE (28)* 46.4 53.6
* BaseZt 30ECH MO 2 M0 |2



Of. FTHUXIATH 2F 74 Al
O FEYUXATH 20 M2 JHHAIE2 Y Z2O™ 27} 33.0%22 7HY &1,
C2o2 F&Y od FE H3(326%) &Y LY FHQ0.8%) =
(18 26] HEARIUT 2F HMA
(Base=3/2Y X|g == #0{xl, n=279)

(St : %)

33.0 32.6
20.8
FHEIz2IY L g™ F-gd goie
HE A3 A

[E 31] FISHXAT 2F HHAE - SEA 592

e x| XFAH i 2H e
. e | TEY 21U R 1385728 B8 | #ue Yoy 23
= T
% % %
A (279) 33.0 32,6 20.8
A s (85) 294 30.6 224
of-d (194) 345 335 20.1
15 (63) 20.6 333 19.0
28HA (86) 384 349 16.3
stid 35t (69) 36.2 29.0 24.6
43t (55) 364 32.7 21.8
55k (5)* 20.0 40.0 400
SatChs (16)* 31.3 18.8 18.8
el s s ey 9)* 0.0 66.7 11.1
O|=.C|XpQICHs (46) 239 39.1 26.1
TEOHLHOMA LS| (14)* 429 357 7.1
EratTyt ArECHS 99) 374 303 232
Atz ntethst (31) 32.3 355 19.4
Alstrfst (3)* 333 333 333
Setost (24)* 417 20.8 20.8
|3 - apstoy st (24)* 20.8 417 20.8
E3ste (13)* 53.8 154 77
* Base’} 30ELCH Moo2 Mo F2|
o A EWIRI] gH2200f wat 019 Xto|7h wME & QS

F) =td JIEE 27| ML
F) MuArEel JIEtg RS &7 H el

_40_



(Base=TH||, n=1,309)
(TH9l %)

8Y, 234

H|ZH, 76.6
[E 32] Y% 0% saxlgl =21 Ho| FH - S sS4
2 Al e ieE
% %
A (1,309) 234 76.6
o =he (461) 21.0 79.0
of-d (848) 24.6 75.4
15t (466) 13.1 86.9
28t (330) 276 724
ot 3%t Q71 32.1 67.9
435t (231) 25.1 749
5% @)* 85.7 143
StChs 71 23.9 76.1
el e (86) 12.8 87.2
O|&-C|Xp oIy st (236) 254 746
SO H|O|MA UL (141) 12.8 87.2
chatCyst :krt:'.*iﬂﬁtﬁ (401) 249 75.1
Abz| afetCh st (94) 31.9 68.1
AlShC St (25)* 28.0 72.0
=L} (160) 20.0 80.0
| 3 = ntskCh st (67) 23.9 76.1
=Eos (28)* 53.6 46.4

* BaseZt 302Ct Mooz iAo {9
 ASE EMALE] Y20 wal 019 Xfo|7t WHE £ UAS
F) &d Jet 27| M <
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Al stEX|@ =23 WM ApE
O S&EXY T2 2Y0f I MALR 2 EOf 6| EH7r 29.7%E 7t W1 Ctge =
Z2IY Y 2% X AIZIH ChYRH9.1%) > Z2IY L8 ChYei180%) > Y X B
=25 Z3K105%) =
O &Of ofEd 2= ASIHEI0| 57.1% 2 7t =4 LIEHE
[1E FEX|Y T2 2 I MALE
(Base=Sr&5X|® =28 Xo| AEX} n=306)
(EHR - %)
29.7 29.1
18.0 10.5
B et Z20W 2FE LY ZE2IY UE QLY A
S A|ZHCH CHFSE Cr=t £H 23 735t
[E 33] S&Xle T2 2% JHMHAIY - SEX SN
Dzl 29 _ -
. . o i D2 L8 (QHf o R HE
EH S| ol Ol A|ZHC 1 -lI'S x_ o =O
T2 Ardil % SR RE:@,@'}" 1 cherst 23}
% % % %
TH| (306) 29.7 29.1 18.0 10.5
. 24 97) 29.9 247 15.5 134
= oA (209) 297 31.1 19.1 9.1
18Hd 61) 23.0 14.8 18.0 13.1
28Hd 1) 38.5 28.6 12.1 8.8
e 35t (87) 264 34.5 218 10.3
43t (58) 27.6 32.8 224 12.1
55t (6)* 16.7 66.7 16.7 0.0
SatcH st (A7)* 17.6 11.8 412 11.8
=32 H st (11)* 36.4 273 0.0 273
O|&-C| Xkl st (60) 217 36.7 233 6.7
SO HOMA US| (18)* 444 5.6 16.7 22.2
AFEHCHSH
croph j :.LH Sl (100) 31.0 36.0 13.0 10.0
Atz otetCh st (30) 30.0 233 20.0 10.0
Aletcst (N* 57.1 143 0.0 28.6
=2 Lli=h (32) 313 18.8 219 94
B3 - atstoi st (16)* 50.0 25.0 12.5 6.3
SZEete (15)* 6.7 46.7 20.0 0.0
* Base”} 30ELCt Mooz Mo R2f
o A% ERRtE| HR2 20| Wat 0.12] k0|7t LT £ AU

F) et Jlet 87| Hel
F) Aol 7IErse

o=

77| M2
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OIEHH OF= SkA = 1
3-3) XE S [sHAXEX] 23]
=
Zh 255 Anp (™H)
O SHURIK| EE A U ot 9| SHURLX| 2E0| 705802 1Y &1,
CHOFCHSE EHR| SHAXEX] Z2E69.77F) > Aot A28 st &2569.2F)s2 =¢
O it TRl SHAXHK] &2 AMRCHS0| 781E 22 THY =8
[A3 29] XIHE UHFE [SHEXIX] 2F]
(Base=TH||, n=1,309)
=218
BACH) A13 A0S5 v19 =
Gap ’ : :
HEChH|
Gap A7:S = - A45
69.2 70.5 69.7 67.3 69.2
AHOHEE st el CHOfCist ohel Bl tH Yt X 2N
SRR B St B SHURHA| 2 Y EE
HEeEEE
HH CHE| Gap (M5 - TH)
T B Gap (20243 1817 - 20233 1817))
X DHEL Atz b
1) A PR X U MR s A A g
2) EE UEE  BEE L ME g5 N M ZE
[E 34] At UEE [BHYIK| 25 - SR S
K3 stut £kl | ChatChs che| | BSHME| el | fESH X2
S JUEES el SHURIA] =& | SHXK| ZF | SHdXK] 25| St #E
H H N N H
HH| (1,309) 69.2 70.5 69.7 67.3 69.2
P =Hd (461) 70.5 72.0 71.1 68.6 70.2
°= o-d (848) 68.4 69.6 69.0 66.6 68.6
18t (466) 70.6 713 70.5 69.7 70.9
25 (330) 70.2 71.7 70.8 684 70.0
stid 35t (271) 67.0 70.1 68.2 64.1 65.5
43}t (231) 67.3 67.4 68.6 64.5 68.8
55t 7* 72.3 75.0 75.0 714 67.9
Satci st 71 64.3 64.8 63.7 62.7 66.2
2= e Xl (86) 70.6 71.2 71.8 69.2 70.1
O)=-C| Xt el CHst (236) 63.8 64.4 63.0 63.7 64.1
USOL|HOMAUCHSH  (141) 64.1 64.2 63.3 63.3 65.8
Ep—— At CHet (401) 75.0 78.1 774 71.1 734
chatofe S| TFSICH 3l
Atz|apstCyst (94) 67.6 68.4 67.0 66.2 68.6
Aletcist (25)* 62.0 61.0 61.0 59.0 67.0
Sty (160) 68.1 69.7 68.0 66.9 68.0
B3 - apstoist (67) 72.5 72.8 743 705 72.4
Salste (28)* 73.7 70.5 73.2 75.0 75.9
* Base’} 30ELCt Moo 2 Mo F2|
w A SRiKtE] BR2 20| Wt 0.12] Xto|7p LA & U

) od J|et 27| M9l
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Gaks)

.l

L}. Matrix

_44_

£fo g
% 3
K
[=d
=0
wr
oF o
g m | T X
2 3 Wm0 = E
N1 = s H &= R0 R
o il K | of | Ko | RO
= = =3
DI K & o
© 1 g B ) m:
o e
o[l X W M_._r._n_ 4
ar s oF i K X
B & & =
S i ©
xd ~ ® M\ H
= L LN — \e] [ce]
! ) — o8 < | v | v | <
il oy _._._o Klo N I3V I3V N
KY jill -
Ko foitl
o K R
K K i
20 M & K
N L 20 |d
._Oﬂ ﬁa - - n ™~ ™ AN
W= 20 jor Mr|Rl| o | o |~ | o
ol — = M~ e O o)
_A._ﬂ _II "r Dl_
ol oy H
Kir K
o= Bl Kir
- ﬂ._ ol e
o] of! od
He BN Ho | o
TR = ar Ely | R
= no— | — Il
N or B = B o
o = = = K XK | K| K X
Klo o %o &l o~ [ Nc No ol
o o Kio " LUl % N ol ol =T
[ i " o o
U A m H ] oF | WK
r ir L
I FoET D
x MOM Jor |_.|H_ ol %
U mﬁ d .x._o
1o} o v
p= . " —
K K
© b
- o
H < 1Ko 0 LH } R nAnO._o*____NO
or 0




3-4) K12l GHEE [UEAMH|A)
7f HFE At (HA)

O AZAMHIA X3 L =0 WYME|ATL 734H22 7HY

=1, CHSo=2 e & M= B=
M (726d) > et BAMH~ 28 HE[¥(7228) 82 &

O Zu HYMH|AE APRHLNSO| 779822 7MY =3

(Base=TH||, n=1,309)

G
ﬁgl:gul - Al2 v0.1 AQ04 - v13
ﬁg:gul A58 A734 A5 A48 AS5.1 A57

734 72.1 72.6 72.2 70.9
' ST <E CHS} gl Af|~ O fIMHIA  CHef 2% BetHE
S AJH| A S AH| A HEHB =2 malyd OhY 2N
HEs=
HH|ChE| Gap (M % - TH)
HEACHH| Gap (20244 18}7] - 2023 1&H7])
X OFELE Abs did
1) A CHEEE - XY L MR EE HA As B
2) B2 UFRE  BEE L HF g5 HN Mz e
[& 36] AI¥E TFE [RAYAMH|A] - SEHA S48
- [;H'é'l- [Ha'l [HB‘I- _g_(ll
ALl L =u JAdxa ol A H| A ol A{H] A BRI
T e | BEE | wdaus | gdaeix | BTSSRSO ey
EI Jé-II EI ~ ~ ~
A (1,309) 72.2 734 721 72.6 72.2 709
e =Hd (461) 74.2 75.2 73.7 74.8 74.3 73.0
c= oy (848) 71.2 724 713 714 71.1 69.8
15t (466) 72.5 743 72.2 73.2 72.0 70.8
28t (330) 72.8 74.1 73.1 72.6 72.8 714
st 35t (271) 71.1 71.5 716 712 71.0 69.9
43t (231) 72.2 72.5 714 73.1 72.6 715
55t 7* 75.0 75.0 714 75.0 78.6 75.0
Satoist 71) 68.2 71.5 70.8 683 64.4 65.8
o g e ] (86) 73.9 73.5 73.3 747 733 747
O|&-C|Xpolcy st (236) 67.2 69.2 66.6 68.1 68.2 64.1
IEOHLHOIMA LS| (141) 66.7 69.0 67.2 67.0 65.8 64.5
EH[CHSH
Er oy APCHS (401) 75.9 77.9 75.6 75.9 76.1 743
Atz otstChst (94) 74.8 76.9 75.3 74.5 75.3 72.1
Alstcyst (25)* 62.4 60.0 61.0 65.0 63.0 63.0
2otclst (160) 73.8 71.7 74.1 74.2 73.9 75.2
ZEDSn == 67) 76.4 76.5 754 76.5 76.1 776
Easte (28)* 75.9 73.2 75.0 76.8 78.6 75.9

* BaseZt 302Ct Mooz sfMo| F9f
AW EMALE] 220 w2l 019 Xfo|7t WE £ UAF
F) gtd 7|ef 77| Q|
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70.9
- 46 -

PR = QLK

F

Chst BAHA 2 HS
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1l — z =
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3-5) A2 UZL [Cheh AldE)

7t BEE
O gt AlY el
=

=]}
x

[T 33] Xl

7_||-_7C.’<_ _|TI|__:| |A|A—|0| 706140

dold/4EH 6827 ChH|

BHEE [CfE Al

(Base=ZFH|, n=1,309)

EI_[-Oi - X‘l

HAchH|
Gap
k|
Gap A34
69.4

A9

70.6

viz2

A48

68.2

ARIDEE TAH Y ZHE HolA M
HACHE| Gap (M% - FH) o
T HOH| Gap (20244 18}7] — 20234 18}7])
X HEZ ME Y
1) A BERE XY L MR g5 TN A B
2) B2 UEE  EE2 L ME &5 M Mz B2
[& 38] XI{H THFE [CfS A|d] - SEX S48
Qs NN A R BN U Z4F EoAM ZoM/MEH
3 H H
A (1,309) 69.4 70.6 68.2
P =24 461) 715 724 70.5
°= ol (848) 68.3 69.6 67.0
18 (466) 68.7 69.5 68.0
28t (330) 68.9 70.2 67.7
diig EEE] (71) 68.8 70.6 66.9
45Hd (231) 72.0 73.0 70.9
55t 7)* 73.8 78.6 69.0
Stoy st 71) 68.6 69.7 67.5
Ve ESTE-D (86) 70.0 71.5 68.5
O|&-C| Xkl st (236) 62.5 674 576
oL HOMAHRICHEE (1471) 68.1 66.7 69.6
EhatCyt APREICHE (401) 722 724 720
Atz|apstCy st (94) 718 718 71.8
Altolst (25)* 60.9 63.8 58.0
St (160) 716 72.0 713
FEDSn == 67) 717 737 69.7
SEEE (28)* 747 75.6 73.8
* Base’} 30ELCt Moo 2 Mo F2|
o A SWRtE| gHS 0| mat 0.19] Xto|7} HME & gl

F) std 7|Er 27| H
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Ch RHEE Z S AIY - EMS Y ZF TN

O EAE U 2F MOAM £2 U EMB A% [E F2H0| 767892 Y &1, (3R
SP HAAN74EE) > ENT 018 HalHr25E) S5 29

O EMT 2T A2 SEYS APCISHE0OENOIN £ Liet

[A3 35] XAHAE UFE [Ofsh A2 - =M2 X 4T

|0

|AlE]

(Base=TH||, n=1,309)

€3
X H
"2":“ l A12 A73 A31 A54 A09 A13 v13 v3.0 v44
ap
HLECH
ig:: I A34 v22 AG2 A39 A48 A03 AS54 v1.9 A09 A40
76.7 74.8
725 .
AAAAAA 69.4 70.6 70.3 70.7 681664650
L " 1 . 1 . .
AYVFE EMBY EAB EAB S StMAlE  SIMAE SEIM A ABHA SOl
245 Hel A= o|g FAHAE  OI8 AIRE O ChE Gl lEE] og AdA3
AN B2 =4 Hald Aotd S HAYE

THCHH| Gap (M[£ - TH|)
| Gap (2024 13817] — 20234 187])

[H 40] AFE =T [CHS A|D - ZA A 4F HolA|d] - SEA S48
3 & ot
E;:! 5 EMz | BHAM j%': o §}x°::EI A %gtal
g | = T2 S 2R ) olg | MEy) R SR |
2 +|use| B | 12 QB Ta | AT (Y0 o | o | AP
T2 Aref s A | £8% Hald | Al al £l 2 | o|g %
= ST’o * oz AFEY =7t
[F& 74 ﬁgﬁ <
o
= = = = = & = = = =
A (1,309) | 69.4 | 706 | 767 | 725 | 748 | 703 | 707 | 681 | 664 | 650
o =54 @461) | 715 | 724 | 768 | 742 | 770 | 723 | 730 | 722 | 668 | 67.1
°= od (848) | 683 | 696 | 766 | 715 | 736 | 693 | 694 | 659 | 662 | 639
18H (466) | 687 | 695 | 760 | 717 | 763 | 673 | 670 | 672 | 647 | 655
25t (330) | 689 | 702 | 771 | 729 | 746 | 708 | 702 | 658 | 66.1 | 64.2
shid 3t (271) | 688 | 706 | 760 | 715 | 737 | 715 | 743 | 686 | 670 | 625
435t (231) | 720 | 730 | 781 | 748 | 732 | 738 | 740 | 729 | 693 | 679
55t 7+ | 738 | 786 | 786 | 714 | 750 | 857 | 857 | 786 | 750 | 786
ZatChEr (71) | 686 | 697 | 736 | 736 | 761 | 704 | 676 | 665 | 658 | 64.1
2l ZE Xl (86) | 700 | 715 | 797 | 744 | 785 | 706 | 712 | 654 | 654 | 66.6
O)&-C|RtQICHS} (236) | 625 | 674 | 721 | 692 | 727 | 675 | 695 | 624 | 637 | 624
CSOHL|HOIMAH QS (141) | 681 | 667 | 743 | 706 | 725 | 645 | 622 | 654 | 621 | 62.2
EhatTyt NI (401) | 722 | 724 | 809 | 736 | 764 | 722 | 733 | 700 | 680 | 649
= o Atz|apstyst (94) | 718 | 718 | 769 | 737 | 763 | 723 | 710 | 710 | 660 | 67.6
Alstryst (5* | 609 | 638 | 730 | 610 | 630 | 610 | 650 | 640 | 660 | 57.0
St (160) | 716 | 720 | 736 | 752 | 728 | 731 | 73.1 | 706 | 686 | 688
H 3 - apstoist 67) | 717 | 737 | 802 | 724 | 784 | 716 | 735 | 765 | 70.1 | 67.2
Saste (8)* | 747 | 756 | 759 | 759 | 741 | 786 | 750 | 768 | 750 | 73.2

* BaseZ 302Ct MoB2 oMo 79|
 ASE EMALE] 220l w2k 019 Xjo|7t HHE £ UAS
F) gtd 7|Ef 27| Q|



= | S 4 1 JAIA AL
Ct. 2F5E At s Al - Zo4/454)
O ZojM/dEA B2 U Zold ;Mo 70080 I &1,
CHEeE WS 7|XH{/HIE FH|(67.8F) > M54 A 66.8T) 2 =Y
O F=Z0IY CfH| Zold M2 sEetFI}t 75082 71 =&
[12 36] A8 UFE [THE MY - ZolM/AUEY)
(Base=TH||, n=1,309)
©9l: &)
Eg:gul w12 A06 v26 v16
E?::)IHI A34 A48 Ad4 AS5.1 A38
69.4 68.2 70.0 66.8 67.8
Zeold HEd g 7| XH/HIE
a4 T T
Hess
HH|CHE| Gap (M5 - TH)
TUECHE| Gap (2024 187] — 20234 18}7])
X ST Atz b
1) A SHEE A W NE 5 TN A BT
) BE UELZ  BEE Y NE = MA Mz B
[E 41] Xt SEE [CfS AN - Zold Y] - SR S4E
xS orEg %"ﬂ%‘/:%%%' god H5d I.l_%n7|x|-XH/
T2 JUT ES = =7 [F&] MHE MEH H|E TH|
~ bl -~ -~ ~
[=] [=] [=] a
HH| (1,309) 69.4 68.2 70.0 66.8 67.8
A =5 461) 71.5 70.5 71.8 69.3 70.5
c= o (848) 68.3 67.0 69.1 65.4 66.4
184 (466) 68.7 68.0 70.0 66.4 67.7
28 (330) 68.9 67.7 69.8 65.8 67.3
el 35t (271) 68.8 66.9 68.5 65.7 66.6
45t (231) 72.0 70.9 72.1 70.5 70.2
55t (7* 73.8 69.0 714 67.9 67.9
Zatcy st 71) 68.6 67.5 68.7 66.9 66.9
e G ESW (86) 70.0 68.5 71.5 66.6 67.4
O)=-C|RtQICHS} (236) 62.5 57.6 62.6 55.2 54.9
PSOHLHOEA TS| (141) 68.1 69.6 69.3 69.1 70.2
chalcHs Atecyst (401) 72.2 72.0 73.5 70.0 72.6
CHOFCH St e
Atz|ap=tyst (94) 71.8 71.8 73.4 70.7 713
Alstost (25)* 60.9 58.0 55.0 58.0 61.0
Stoyst (160) 71.6 713 72.2 70.5 713
EESn == (67) 717 69.7 70.1 69.4 69.4
SEoe (28)* 747 73.8 75.0 75.0 71.4
* Base/F 30EC 202 M0 79
o A% ERAIE| HR2 20| W2t 0.12] Xto|7F LT 4 AUS

F) =td JlEr #7] M
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ot 0|8 Fd A4

O 018 ZE AlMol Z2 SMBAANMOl 717%E J1H &1, ISR MUA(T01%) >
EMEH622%) 52| =Y
O StZAAEE SIS0l 81.7%=E 7IE =&
[18 37] 0|8 Y AA
(Base=TH|, 58, n=1,309)
(EH21 - %)
7.7 70.1
62.2
15.7 15.3
1 R =M AEHA Sof2Y
Al
[E 42] 0|8 7Y MY - SEX S4E
Qg A2 SHEMAIM mLy Act S AEHA Sofz|4
% % % % %
aps| (1,309) 71.7 70.1 62.2 15.7 153
bt =i (461) 69.2 70.7 614 124 15.6
°= ol (848) 73.1 69.7 62.6 17.6 15.1
184 (466) 74.7 78.8 65.2 15.7 176
28 (330) 73.6 63.3 59.7 13.0 14.8
oflH 35t (271) 69.7 70.1 59.8 19.2 14.0
45t (231) 66.2 63.2 61.9 16.5 12,6
55t N* 57.1 28.6 85.7 0.0 143
StCh s 71 817 718 64.8 26.8 14.1
el e ey (86) 64.0 66.3 744 15.1 174
O|=-C|RtQlCH=t (236) 775 69.1 57.6 11.9 11.9
YIEOHL|HOMAHRICSE  (1471) 67.4 68.8 54.6 9.9 12.8
EH[CHSH
crotoyst AHRHCHES 401) 72.3 78.3 69.6 19.2 19.2
Atz|apstCy st (94) 67.0 55.3 723 19.1 245
Alstryst (25)* 68.0 76.0 84.0 20.0 24.0
St (160) 713 65.0 36.3 12.5 6.3
B3 - apstoist (67) 73.1 76.1 74.6 11.9 16.4
SEEs (28)* 53.6 32.1 53.6 143 7.1

=]
* BaseZt 302Ct Mooz iAo {9

e SMXAE| B2 2o W2l 0.19] Xjo|7h EA
) st J|Et BY| M| Q|

F) 0|8 ZH A4 7|erd =2 77| M

ot
30
ojo
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O 49 Xfo| i3t BEEE 2otel DF AAHO| 72280 I &1L,
= 3 ) 222 ety
[1% 38] ¢ X|& UFE

(Base=ZFH|, n=1,309)

G2l

k|

Gap A26 A7
68.9 72.2
¢ 2 WEAMHA | 2212 1] A|AH
M| Gap (20244 187] - 20234 13817])
[E 43] +¢ X|@ WEE - STK S4E
o e 4+ B YHMH A 2atel 1§ AlAH
= =
TH| (1,309) 68.9 72.2
o =i (461) 71.3 73.5
o (848) 67.6 71.6
13t (466) 69.0 72.3
23t (330) 69.0 73.3
&l 3stE 271 67.1 69.8
45t (231) 71.0 73.6
55t (7)* 64.3 75.0
S afCyst 1) 711 73.2
=2tE ALY} (86) 68.0 72.4
0| =-C| Xt el CHst (236) 62.1 65.6
SO HOIMA TS| (141) 65.2 69.1
EhatCyt :\r%*EHEtﬁ (401) 717 75.2
At2| otstryst (94) 69.7 747
Aot (25)* 61.0 63.0
St (160) 73.0 74.7
|3 = ntstoh st (67) 728 76.1
SEstE (28)* 74.1 75.0
* Base’t 30ELC oD Mo |2l

= a4 SRR SOl Wat 019 XfO|7 BME & U
F) o Jlet 2] Al



5 =8 | °|A

[E 44] =2 7§ oA

e JUTES %

HME20| Chsfop iCh (15)* 1.1

HNEW2o| MBHO| BHBIC) (8)* 06

MB20| £20| 5t 20| WasiC} @ 06

HB/AES S0 Bt ) 05

paay Eadco| = D0 WasiC) (6)* 05
HMBII20| ALS| B3I BHeo} BiC) @y 03

HEA=0| MAHOIX Yct (- 03

{21280l 74Mo| TasIC) @y 03

=71 B=5iCt (4)* 0.3

WA= 0| CHAFsOF ST} (26)* 2.0

DYR=20| £20| EX| Yer @ 06

DY W £ZOUS S0} BT} (5)* 04

S OIYe/S0|S Bokst 20| O[oF Bic (5)* 04
(n=1,309) DY= 0| MEH0|ojof BTt ) 0.3
DY WHE F0{of BT} @) 02

40| A4 £0{0} BT} @3y 02

g0l ofHct (3)* 0.2

T2 2 oty 9l SHE Z3||oF L (23)* 2.4

D= /m= 00| Chsfof Bt (6)* 06

L, H@D T2 A7 #HP0| RESC (@ 04
(n=953) HICHD QS StCfsiof BITHES, DY, M2 5) @) 03
HME Y DYWHO| £20| e HDITZIUS SHChsOF BTt @3y 03

LS A|ME JfMBloF Bt @) 07

SIRAIS J|MBHoF Bt @y 05

w5 Zto|Ag HfMsfof Bich (5)* 04

— ME +22 25K YUASH Bt @y 03
(n=1,309) e e e @y 03
AT O|AIZHS BHTHBHOF BiCH @y 03

ASHA 28 U XIS Soisjop SiCh @y 03

stm ZEE HIHo= o} Bt @y 03

* BaseZt 302CH Mo
'

» Ole p=2/09
HATY, I:I/TOI:II
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6) 28 MY ZstE B Th3tel =

-1 O o O — b |
7F HH|
O =¥ gHddy Z3tE fIP ¥ W2 72282 = LIEtH
O Yz MIAGZ0| 72702 JHA &1, [FROE MGz 72 0X) > StE T2k 71.8%) &
O 5S¢ stddz Z3lE 2P o3 A2 ABOE0| 765822 7HE 55
[13 39] S SHANHT MA)] Z=tE I tfste =3
(Base=ZTH|, n=1,309)
€213
ﬁ:‘agul v04 AQ05 v0.2
aél.!:.';ul A29 A42 A10 A34

THCHH| Gap (M% - TH)
HECHE| Gap (20244 18H7] - 20234 18}7))

[ 45] 28 S$UAY (M

Qs A2 shllo gt stE o H3AE EERE
= = = =

TH| (1,309) 722 718 727 72.0
b =] (461) 733 734 734 73.1
°= g (848) 716 71.0 723 714
15t (466) 715 71.2 72.0 714
2%t (330) 73.1 73.1 74.2 72.0
=i 35t (271) 70.8 70.3 71.2 70.9
434 (231) 73.9 73.2 737 748
55 @)* 75.0 75.0 75.0 75.0
Zatchst ) 69.5 69.4 68.3 70.8
22 Ayt (86) 70.4 70.1 70.6 70.6
O|&-C|xtolchst (236) 66.6 66.6 67.3 65.8
YUEOHL|HOIMAIUCHSE  (141) 68.8 67.2 71.1 68.1
EhatCyt APdCHer (401) 765 762 769 76.6
At2| atstryst (94) 729 72.9 734 723
Alstolst (25)* 64.3 64.0 65.0 64.0
Sotryst (160) 73.9 733 744 741
Ej| 3 - nfpstoh st (67) 754 76.1 754 74.6
=Eots (28)* 73.2 73.2 723 74.1

* BaseZt 302Ct MeBZ sfMo| 39|
A EMAIZ] 220 wal 019 Xjo|7t HME £ UAS
F) & It 27| M <
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7 B 8%, HZ MH
7l NEEsdE, 7U8, 85888, 2T E9)2F UEE
O Mk 2% UFEEZE 71322 LIEHH
(78 8 HIE :51% 28 S8H : 345%, 38 8 : 60.4%)
O SEA EMYZ HY((7247F), 33tA(72.08), SR 77.7)0M = LIEH
O HHH Alstfste g2 oMoz 7hE W2 HIHY

(1 40] MEESHE, 2H3, SSUWZ, 22 Y UFE

(Base=TH|, n=1,309)

20244 X4 9 - ) 20244 S& HIE (EH91 - %)
Bot2% Top2%
s 5.1 | 60.4
34.5 28.5 31.9
20241 LS 23 HE 24 S
k-] 3

T A | 78 ° 3% ha
% % % % % % % % ES!
A (1,309) | 18 34 345 | 285 | 319 5.1 345 | 604 | 713
M ik (461) 2.8 3.9 325 | 223 | 384 6.7 325 | 607 | 724
ol (848) 12 3.1 35.6 31.8 283 42 356 60.1 70.8
15t (466) 0.9 32 380 | 296 | 283 41 380 | 579 || 703
2%t (330) 18 2.1 339 | 309 | 312 39 339 | 621 719
&gl 35t (71) 2.2 44 310 | 280 | 343 6.6 310 | 624 || 720
435t (231) 3.0 3.9 325 | 238 | 368 6.9 325 | 606 | 719
5% (7)* 0.0 143 | 286 | 286 | 286 143 | 286 | 57.1 67.9

Satcyst t4)) 1.4 42 423 21.1 31.0 56 423 52.1 69.0

el g | E o)y (86) 35 35 384 20.9 337 7.0 384 547 69.5

O|=-ClAtelchst (236) 17 42 449 26.7 225 5.9 449 492 66.0

FHEOHLIHOIEAI Y S (141) 0.0 43 46.8 284 20.6 43 46.8 489 66.3

crojeyst AHRHCH S} (401) 15 25 26.9 31.2 37.9 40 26.9 69.1 754
A3 ottt (94) 32 1.1 29.8 34.0 319 43 298 | 660 | 726
Alstoyst @5* | 120 4.0 32.0 28.0 24.0 16.0 32.0 52.0 62.0
= CH s} (160) 13 44 26.3 28.8 394 5.6 26.3 68.1 75.2
|3 = ntstoh st (67) 0.0 45 373 26.9 313 45 373 58.2 713
SEEE (28)* 36 0.0 214 32.1 429 36 214 75.0 777
* Base’t 30ELCt OO Z oMo |2l
» A%E SWAE W o) Wt 019 Ko7t wME £ g

F) s J|et B7| HQ]
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